TH2FEERE1IE RABEKBESEH

SR VASV/NISE 2225

HIEF Sfi244H 24 H (&) 18: 30~

TR TR B S

TR R EHR S

(FRZ--- M2 FEE %A X v 1000 FE ET)

Q ® © »® ® © 6
el
B
ity
~
ity
&
T
T
I
S
=

U D
N4 R TIOME

fﬁw
> Hm

< DAl



o] (LI B ST

EAREFIRABIKE

A LIRS BASEERA

T701-4221
o] L1 B3 5 N TH B A BT B R404
(0869)22-0017

2 S 5 NN 1] = et
ME G
R IR
A B
= K W —IE
AlER & EW
AlER 4Rl @S
Rl FHI
Rl &M B
Al BUITA T
Al B BT
AR BT RS
BlER fE A
Rl T far
Bk BH BET
RlaR W 9lE
BlER I =
AlER B R
AlER §ARK FETF
=S = [ A
DR FEEORNE—RR

A



AURIBAGFFRAZR
FTHX(EXSDFE REE

ILA DEB (g : )
# H LOTHE BAE | TERE | WAKE | £5188E B =
AIFEREE 445,048 445,048 445,048 0| T AL304F E AN o HFis
ASE 670,000 670,000 670,000 0|31 EEEZ 341344 x 5,000
HURA 4,952 4,952 4,102 A 850|FIE-&ERE
& F 1,120,000 0| 1,120,000 | 1,119,150 A 850
X HDER (B : M)
# H LYOTHE BRAE | TERE | XHFE | £51R% B =
e 50,000 50,000 16,920 33,080 (BFE X BRIA R R &
REE 60,000 60,000 52,000 8,000|84BME%
HELE 30,000 30,000 216 29,784 | fH
BIEE 30,000 30,000 12,650 17,350 | &R %
wes 120,000 120,000 120,000 0|BEFE AR, RT3 HRBAAL
EXRE 30,000 30,000 18,612 11,388|38 B2 SNILE
SHRE 322,000 322,000 0| 322,000
BEERIEE 300,000 300,000 300,000 0|3y MR EEN#HEN
BHEE 50,000 50,000 0 50,000
& 10,000 10,000 0 10,000
FHE 118,000 118,000 0 118,000
& F 1,120,000 0| 1,120,000 520,398 599,602
IRA%E X HiEE 7%EE
1,119,150 — 520,398 = 598,752




AR BABSEHABR RIS RE
SHE(ERIVEE ANE

IR A DEB (Bt : )
B B |49FEHE BRE | TERE | MAKE | Z518E m =
R EREE 3,883,552 3,883,552 | 3,883,552 0 | RC30E EM o#Eits
FEARA 448 448 34 A MAFEEFR
& i 3,884,000 3,884,000 | 3,883,586
X HDER (B F9)
B B |49FEE BRAE | THERE | XUHE | Z51EE m =
feHE 500,000 500,000 | 500,000 0 (BRFRTEXRIA
FiRE 3,384,000 3,384,000 0| 3,384,000
& i 3,884,000 0| 3884000 | 500,000 | 3,384,000
IR A %8 X Hi%E b2 2.5
3,883,586 — 500,000 = 3,383,586




ERAE
SIS X
1 EBISENEEE OB
2 THTZEZSM
3 MR RIS B DB
4 HEFIZTT TOR

1T
AR 31 4F
45248 (k) CRNEE=ES
BRI
5H11H () Ba 1=k
5H26H (H) BAVE SRR
64 98 (H) WRZSHEHN SRS 38 [l E M IS 14 1%
8 H19H (H) % 2 B BSHOUESRSI fTHAbER
(A% - PTABREH)
9H 6H (&) THIES B X Ui
9H 7H (1) THIEZE b DOEs
9H 10 H (k) THIEZE KB DO
SFn 2 4R
24210 (&) VT SR I NS R AT B S
2H29H (£) A A

3H 250 (K) DEHEA



£
mt
g
I

$%31$Eﬁ%%%%4ﬁﬁ%éﬁ®ﬂk'i&ﬂ%é%%@%\ﬁ%%ﬁt
DWTEEZERLZER, WThbBEENSERICAE S TV D b it
LET,

4fn 24 » AL R

BB BEAREFREAREEE B

LR B AR E LR E RS




S0 2 FERETE BRI

ERAE

SIS X
1 EBIEENEEE OB
2 THIZEZM
3 MR RIS B DB
4 [{EEIZTT TORE

1T%
AN 2 A
44248 (&) B1EEES
5H 9H (1) G S
XH a a4 )V ARYYE TR D71k
6H 1418 (RH) MRZEASER S 39 [ EHITE RS HhiE
SR o mF 1 ¢ L R RYSE TR 0 7= o Ik
8 H H () 2 B BSFH LRSI FTbAabEs
(F7E%£ - PTALRESE)
9H 40 (&) THTES BFD X YEf
9H 5H (1) TFHER UL ORR
1074 8H (k) THER KB O
11 A4 13 H (&) AN E AR A TS K OGE &k
N 8 4
A H () WL P E ARSI N R AR B A E S
2H27H (+) RS ASK
3 A H( ) SHER

X BARTERESICOWTILS ARBETEAZZEH L, RiE BN 5 11 ALK
BRI 2 & CiE



FILRIBASFFREARSR

TH2FEE RXFHEZE

IR A DER (8452 )
&R AEEFHE |  MEETHE 54 ;3 BE
AEERESE 598,752 445,048 153,704 | R 31 (FFI5T) FEMSIEH
AsE 750,000 670,000 80,000 |34E /41254 % 6,000
BAE 250,000 0 250,000 |[FESL & EFH DA
N 1,248 4,952 A 3704|F - FEEFESE
&5 1,600,000 1,120,000 480,000
E SERE/HIT4AIRRAE
THDER (B4 )
#H XEEFHE | MEETHE He®: BE
i3 99,000 50,000 49,000| AR X B R
SEE 42,000 60,000 A 18,000|#a£SME
HERE 5,000 30,000 A 25,000\ %75 FH & - ENRI AR
BIEE 88,000 30,000 58,000 (L) F-FEE%
heE 40,000 120,000 A 80,000|BIERZ &p
EBRE 20,000 30,000 A 10,000|58B 5N ILE
SRE 900,000 322,000 578,000 | &R
EEERILE 300,000 300,000 O[3 vEREEN#E RN
TRELE 10,000 50,000 A 40,000| BB & MRS
REE 10,000 10,000 O|&ER-BERES
FiRE 86,000 118,000 A 32,000
&5 1,600,000 1,120,000 480,000

TR PLERLGWMESEEERMOBAERD S,




AR BASSERABIRL SR
SRR NXTFEE

IR A DEB (B2 F9)
#H FEETHE | IEETHE HE BE

AEERES 3,383,586 3,883,552 A 499,966|FFZ31 (FHIIT) FEEM SRR

LA 414 448 A MEEFEE

i 3,384,000 3,884,000 A 500,000

X DER (B F)
t-14=] AEETHE | MEETHE 34 5 BE

ek 250,000 500,000 A 250,000|R2FE—fERET~

FiHE 3,134,000 3,384,000 A 250,000

EH 3,384,000 3,884,000 [ A 500,000

T PLERGWMESEEERMOBAEZRD S,




